oln




2. o5 I2dlA BC 9 Zel?

@ 13cm @ 1l4cm @15cm @ 16cm ® 17cm

B

(A7} FE5ola,
AB:AE=AC:AD=3:20|B&
AABC o AED (SAS H2)
3:2=BC:10

BC = 15(cm)




the T17°] AABCOllA] AB = 2AC ©o]1L 3DA°|th. BC =
9em @ o , CD &] Zol& F51H?

A
D
B<- —e
~-9cm---
@ 4cm @gcm ® 5cm
@ Ecrn ® 7em

AD =a & 51, BD = 34, AC = 2¢0|B2
AD:AC=AC:AB=1:2, /A= 25
. AACDAABCO]IL HSH[=1:2

Iq-a}/ﬂc_D:9zlz2,C_D:§(cm)°]qt




th& 9o /A = /DEC ©]1 AD
2cm , CD = 4cm , CE = 3cm & o, x
Zol?

LII

@ 4cm @ 4.5cm (@)SCm
@ 5.5cm ® 6cm

~&B

(C 7} B5o|1, /A = /DEC o|B&2
AABC @ AEDC o]t}
H=H7l2:10]2=%

2:1=BC:4

BC = 8(cm)

o x=BE=8-3=5(cm)




@40.8 @ 50.8 ® 71.6
@ 81.6 ® 101.6

B ~
BC' =BH-BA
136 = 10 x BA
~ BA =136
. AH=136-10=3.6
CH =AH-BH
CH” = 3.6x 10 = 36
CH>0°|E2 CH=6

. AABC 9] Ho]E= = x13.6 x6 = 40.8

DO =




® 5:11

@ 9:13

o Zolg ret 5t

i

SRR
9412415
2

3(cm)

I%x12,r=

1

Xr=—-X
2




7.

thg 7%le] 1A17HY ABCD o4 BE & 4t dow
W AD 919 A ¢ ol =2 AL o, x ] g7

ol &9 4Ztgo|B2 EC = EC’ °o|t}.
(ABC’ + /AC’B = /AC'B + /EC'D = 90°
= (ABC' = /EC'D ---Q
/A=/D=90°---©

A, Ol 9l AABC’ 2 ADC’E
AB:DC’'=BC’': C’E°|E2 16:8=x: 10
x=20




@ 6.5cm @ 7em 3)7.5cm

@ 8cm ® 8.5cm

B

AABP = AEDP ©]|E & APBD & o|5H#AZtgolng
10cm ©|tt.

APBQ 2} ADBC ©f| A

/PBQ = /DBC, /PQB = /DCB °|2&
APBQ@ADBC (AA H2)
PQ:BQ=DC:BC B2 PQ:10=12:16

. PQ =175 (cm)




o 725} Zo] A2 maFo| Eo| 2 Y
24 AC 2 HL 402 sho] WL} AD
9} BC o BAS B ekt A B ol 4] tzh4l
AC o W& 240 S F a3l o uf, x o]
71011—_‘7

11 25 31
@323 @??5 @2
® < © 3

AAFE 9} AADC 9|4 .EFA ¢} /CDA = 90° 2 211, /EAF ¢}
(CAD & 33| F-Zo|B g g}, whehA F 472 AA F5°]
Tt AAFE 9} AADC 9] §2H]71 10: 16 ©]E2 5: 8 = x: 20
o|ch.




10. o= ™M A=z g5 44

o&
o
:
o
>

7] 017 7129

@O AFDC o AABC

Q

@ AADE o AFBE B
3® AADE ™ AABC
@AEBC O AEDC

® AFDC o AADE

~&B

@ AABC ¢} AFDC 94 /C = 3%, /ABC = /FDC = 90°
.. AABC O AFDC (AA el EI)

@ AADE ¢} AFBE ©|A /DAE = /BFE , /EDA = /EBF =
90°

.. AADE & AFBE (AA H+)

® AADE ¢} AABC 94 /A = 2%, /EDA = /CBA = 90°
.. AADE AABC (AA §2)

@2} B ol 2J5 AADE 2 AABC @ AFBE .. AABC ¢ AFBE
® @,®] 25} . AFDC @ AADE




11.

tt2 P A /BAD = /CBE = /ACF ©]
I, AB=7 BC=28 CA=99%d DE:
EF &7

®o9:8 @ 9:7 ®7:9

@ 8:7 @7:8

~&B

AABE ©||A] /DEF = /ABE + /BAD = /ABC
ABCF 9|4 /EFD = /BCF + /CBE = /BCA
w2t AABC 2 ADEF (AA ®2)°|22 DE : EF = AB :
BC="7:8




12. & 199 AABCOIA A M-EBCL &Holth, AGLBC, GHLAM
,BC =25¢cm , GC = 5ecm P o, AH Q] Zdol]E 5}H?

@ 4 @8 ® 12 @ 14 ® 16

AABCO|H AG” = CG xBG °|2& AG =20 x5

~AG=10

AAMG o4 AG® — AT x AM o] T AM = 225 — 195008
=AHx125

~AH=38




13. thg 297 o] LA = 90° 2 aABC ©]4] 4 M o] 9|44l u, DI
o Pl

o2 @Y o

~&B

AADB ¢} ACDA = 5H2o]B2 g AD” — 8x 2 = 16 ©|t}.
webA AD = 4 ot}
A M o] elAlo]BEZ AM =5, MD = 3 o]t}

ol 2
—_
D
—
oo

AAMD 9] Yol - xMD x AD = — x3x 4 = 6 o|t},

1 _
= - DH, ..DH= —
6 2><5>< s 5




14. o8 2014 BFD S 2717} 2& AL?

A

D E

B C
® /ADC @ /EBC ® /BAC
@) /BDC ® /ABE

/BFD = /CFE = 180° — (./FEC + /FCE) = 180° — (/\DBC +
/DCB) = /BDC




15. T I™A A =30°< W, /BFD ] A7]9F 27|17F 22 427

@ 55°, ZADC
@)e0°, sBDC

A

Q

® 50°, LEBC ® 65°, /BAC

® 170°, /ABE

/BFD = /CFE = 180° - (.FEC + /FCE) = 180° — (\DBC +
/DCB) = /BDC = 60°




